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Pre-S1 Attainment Test Practice Paper

Answer Key and Writing Sample

Reading (1) (28 marks)
23. A

24.D

25.C

26.B

27.B

28i. listen

28ii. honest

Reading (2)
17. A
18. A
19.D
20.B
21.B
22i. enjoy
22ii. outfit

Writing (30 marks)

A writing sample:

Yesterday, I visited a theme park with my family. When we arrived, the park was
incredibly crowded, and a long queue had formed at the entrance. I could hardly contain
my excitement! As soon as we got inside, I hurried over to my favorite cartoon character,
who was holding colorful balloons. I wanted my parents to capture a photo of us together.
Suddenly, the cartoon character stumbled and fell down! Everyone gasped in surprise,
but then the character quickly got up, smiled, and waved. I laughed and snapped a picture

anyway. It turned out to be a wonderful day!



An analysis of the above story sample in terms of content, language and organization

Content

- Setting and Context: The story effectively establishes the setting by mentioning the theme
park and the crowded entrance. This context helps readers visualize the scene.

- Character Interaction: The protagonist's excitement about meeting their favorite cartoon
character adds a personal touch and engages the reader.

- Conflict and Resolution: The unexpected event of the cartoon character falling creates a
moment of surprise and humor, which adds depth to the narrative.

Language

- Vocabulary: The language is mostly simple but incorporates slightly more advanced words
like "incredibly" and "stumbled." This enhances the narrative without making it too complex.

- Imagery: Descriptive phrases like "colorful balloons" create vivid imagery, helping readers
picture the scene.

- Tone: The tone is light-hearted and cheerful, making it suitable for a story about a fun day at
a theme park.

Organization

- Structure: The story follows a clear chronological order, starting from arrival at the park to
the main event with the cartoon character.

- Clarity: Each sentence flows logically to the next, making it easy for readers to follow the
narrative.

- Conclusion: The ending wraps up the story nicely, emphasizing that despite the mishap, the
day was enjoyable.

Overall, the story is well-crafted, balancing engaging content with clear language and
effective organization.
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Mathematics Assessment Practice
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Time allowed for the practice: 30 minutes (extendable as needed)
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Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 34

2. Answer ALL questions.

3. Write your name on the cover page.

4. The use of calculator is not allowed.

BEAM:

. RABEHEMERD:
&R 551 £ 30&
ZEB: 31 EF34E

2. =HEBYREER.

3. EHmEELER,

4. FERE MR,



SECTION A (60 marks)

Choose the correct answer. You only need
to write down the letter preceding the
selected answer.

EHER (60 47)
BEHIEREREZE -
RIS TR -

1. The total collection of a library 1s
2 600 000 books when corrected to
the nearest hundred thousand and
2 650 000 books when corrected to
the nearest ten thousand. Which of
the following could be the possible
total collection of the library?

A. 2643 000

2 646 000

C. 2653 000
D. 2 656 000

1. FEEHAREWEHREMEE
+ ¥ 1% A 2600 000 A& > A K E
WA 2 B g A 2 650 000 A& o
T oA — B # T AE R K EE
e R T

A.2 643 000
(B) 2 646 000
C. 2 653 000
D. 2 656 000

2. The price of a notebook is $34. One
extra free notebook will be given
when buying 6 notebooks. Miss
Chan needs to buy 25 notebooks,

how much should she pay at least?

A.$612

(B)s748

C. 8816
D. $850

2. —AERHENHEMAS34 EH
6 RTEISMER — A& - BUNAE
BE S AFLE  wRVARS

P 2

A. 5612

(B 5748

C. $816
D. $850




3. All factors of H are:
1,7, 11, H
Which of the following is not a

multiple of H?

(A)s8

3J.H& A BEER :

1~7~11~H
U TFAR—BERAE H o4& 88 7

88

B. 154 B. 154
C. 231 C. 231
D. 308 D. 308

4. 1, 2, 6 are used to form the largest
3-digit number which is a multiple
of 6. Each number should not be
used repeatedly. What is the H.C.F.
of that 3-digit number and 90?

A. 30
(B¢
C. 15
D.6

4. A 1~2-6@m—ERKE =1
oo B3R 6wt 5EAK
FARTEHER - F =4 $H A 90
¢g HCFE &£ %07

A. 30

619

C. 15
D. 6




=

5. The above figure is formed by 3 5. LB Ad 3EK 48R ENS
regular hexagons of the same size. Hotamk - REINTIETEGR D
What fraction of the whole figure 1s Z &7
shaded?

1 |
A. 2 A. 7
1 7
B )15
S 5
C 14 C 1
1 |
D. 3 D. 3
3 ) N 3
6. There are 314kg of apples in the 6. KRJEHR AR 314kg > BEF bt #A
3 3
fruit shop. The peaches are Sgkg 1% Sgkg o KFEJENHEA HFE A
heavier than the apples. What is the T %09
total weight of apples and peaches
in the fruit shop?
A. 3’711( A. 3’7ik
20%8 20%8
19 19
B. 4250ke B. 425 kg
9 9
C. 57 ke C. 57 ke
1 1
D. 697 oke @95@
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7. A roll of ribbon is 15§m long.

After half of it 1s used, how much is

left?

19
A- 35

(B)75m
10
2
C. 9§m
3

D.31§m

7. — A &%EE 15§m  BE—F1&
BZFREZD?

19
A o™

9
(B

2
C. 9§m
3

D.31§m

|
8. IOEL of milk 1s poured into glasses
3
of capacity of ZL each. How many

glasses can be filled?

A7

(B)14

C.16
D. 28

1
8. A4 100L > TREHEFR

3
g LR T325M@7

A7

(B)14

C. 16
D. 28

9. The weight of a baby 1s 4.31kg, and

the nurse wrote it as 3.14kg by
mistake. What is the difference in

value between the two ‘4’s?

A.0.36
B.3.6
C.39

@3.96

9. B eya €% 431kg E L E &
3.14kg - W18 T4, i I E %

b ?

A.0.36
B.3.6
C.3.9

D,/3.96




10. Which of the following has the 10. Fo|F—EeER KR ?

largest value?

A. 8.8+8+0.08 A.8.8+8+0.08
B. 88+8.08+0.08 B. 88+8.08+0.08
€ 88+8.08+0.8 (C/88+8.08+0.8
D. 88+0.8+0.88 D. 88+0.8+0.88

11. The price of a bottle of coke is $26. | 11. B3R T %65 &5 £ $26 - 3 E —
A reduction of $52 is given to the a4 13 Ay T 4 > o7 5& R E
purchase of a box of 13 bottles of $52 FHEBHRTLEERTT 507
coke. By how much is a bottle of

coke cheaper on average?

A.§12 A §12

B. $8 B. $8
s s

D. $2 D. 82

12. Jack has 37 pieces of $5 and $10 12. 18 ASS5 #0510 H 4K £ 37 7k »

vouchers altogether. They are worth TP 4E{E 245 o d RAZ 69810 37
$245. If Jack has 13 fewer $10 2SS RHe iV 135K AFSS
vouchers than $5 vouchers, how BehktVik?

many $5 vouchers does he have?

A 12 A 12
B. 24 B. 24

(s (©)25

D. 30 D. 30




( ]  4em

( ] 4cm

C ] 4cm

13. If all of the above five plastic sticks
are used together to form a
quadrilateral, which of the
following quadrilaterals can be

formed?

I. rectangle
II. parallelogram

[II. trapezium

A.Tonly

@?Hmw

C. IT and III only

D. I, Il and III

] 8cm

] 8cm

13. 4o R[5 8518 B L o) B4R &
4Rk — 1B w9 5 0 7T 2448 pg A T R
— 18/ sk v S 9

L kF#
II. F47mEH
1. # %

A 2AI

R?E I11I

C. 24 11 &I

D. I~-1I & 1II

14. Car P 1s 10m to the south of Car Q.
Car R 1s 10m to the west of Car P.

In which direction i1s Car R from

Car Q?
A. south-east

B. north-east

@south-west

D. north-west

4. AEPAAELQHHE A 10m &
ERAAEPHEK I0m: K&
RAARELQEYH—F ?

A, R
B. &4t

LT

D. &t




15. Which of the following descriptions | 15. F #|#f LB mo :E 69 R 3 &
about quadrilaterals is correct? TEH) 7
1. There are four axes of [. EAHA wikHiEs

symmetry in a rectangle.
I1. The four sides of a rhombus II. #wmEkERE

are equal in length.
[1I. There are two pairs of parallel NI, EHAHH dEs:EPia

opposite sides in a square.
A.Tand II only A RRITAI
B. I and III only B. A 1 &1

@ I and III only RA I AII
D. I, IT and III D. I~1I 2111
Area E
E &
T Area F
F &
Areal X ﬂl‘:i G
1)lf—= GE
X X
Area K Area H
K|E HE

16. In the above figure, Area G 1s in the
northwest of Area H. Which Area
18 in the north of Area K?

A.Area E
@Area F

C. Area H

D. Area |

16. £ LB GELEHESHELY
KE#ybry AHEE ?

AEER

Fr;ia

CHR
D.1E




[ >—

X

17. In the above figure, when the car

arrives at the junction, it will turn

left and go ahead. In which direction

will the car go ahead when it turns

17. £ LB > §AETEESH%BO
B wah Al iTE o R Bk
% 1% @A — K AT EE 7

left?
A. north A b
northwest @ ko
C. south C. &
D. southeast D. £&
A
l4cm

A

18. The circles inside the rectangle
are of the same size. What 1s the

radius of each circle?

A.9cm

Y

1 8cm

18. KA PR Bl &K EAEE -
BERGFERED?




l4cm

19. The above figure 1s formed by a
square, a quarter circle and a
semi-circle. What 1s the perimeter
of the figure? (Take = as %}

19. LR —EBEFE ~ —BAwyp—
B~ A B
BRAS D ? (Ruk™)

A.75cm A. 75¢cm
(B)86em (B)86cm
C. 96cm C. 96cm
D. 130cm D. 130cm
4em
f—s
4em

20. In the above figure, what 1is the area
of the shaded part?

A. 224cm?

(By192¢m’

C. l4cm?
D. 12cm’

20. LR ¥ BRI alL?

2
A. 224cm?

192¢m?

C. l4cm?
D. 12c¢m?

10



dcm }
35cm
om 30cm
30cm
21. What is the volume of the above |21. FE&#E#EZ SV ?

figure?

A. 8400cm’ A. 8400cm’

(B) 11700cm’ 11700cm?

C. 13500cm’ C. 13500cm?

D. 15000cm’ D. 15000cm?

3cm
X Y
) 3cm " 9cm "
22. According to the above figure, 22. BIFELE > FHHR—BREAE
which of the following descriptions BEHYy ?
1S correct?
A. The area of Y is six times A Y thdmfga X &y-54 -
as large as that of X.
B. The area of X is smaller than B. X &g)@mfgtk Z &) -
that of Z.
@The area of Y is larger than @Y ymAgte X Av Z 4y 48

the total area of X and Z.

D. The area of Z is smaller than

that of X.

) A
D.Z &5dmfgtk X &)~ ©

11



23. The above solid 1s formed by cubes
with side 5cm. What 1s the volume
of the solid?

A.750cm’
B. 875¢cm’
C. 1000cm’

Ol 125¢m’

23. by d $EE K Sem 9 EH

By c ZIABOBBRLLV?
A. 750cm’
B. 875¢m’
C. 1000cm’

@ 1125¢m’

15¢m

24. When 10 steel balls of the same

volume are taken out from the tank

:

the water level drops to 2cm. What

18 the volume of each steel ball?

@3 6cm’

B. 60cm?
C.240cm’
D. 360cm’

I ___I?_cm

Fa
o1 S8cm

24. J& 10 K42 f5 40 Bl 69 8RR K KB 9
BE o KA TFHEZE 2cm > Bidesk
ML E > ?

C. 240cm’?
D. 360cm’




Sales of Sandwiches in Lucky Restaurant Yesterday
FTEBRBUERESR-ALHEE

Each H stands for 10 sandwiches
#8 = K& 104 =R%

LLRREE

Egg Sandwich Tuna Sandwich Beef Sandwich Ham Sandwich
#E=4 HEE=WE FRZM4 KBE = A i
Type of Sandwich
ZHHEHESH

25. The above chart shows the sales of | 25. oA b & FERBER LR =004
sandwiches in Lucky Restaurant S EASRITE B3 yikiER
yesterday, but part of it is covered T -CaExERBREREH T 200
with dirt. It is given that Lucky H=8HE > mABSETLHZHEY
Restaurant sold 200 sandwiches BERFA=ZRHELEH 3L BB
yesterday, and the sales of tuna AEETE=ZRE—MY B Jﬁ?@
sandwiches is 3 times as that of beef % b8 °?

sandwiches. How many

there be in the column of tuna

sandwich?
A3 A3
B ©)
C. 10 C. 10

D. 12 D. 12

13



[ 7 54 pm. ] [ 8:09pm. }

Start Time Finish Time
Bt 4 85 R 7 & 85 i
26. The above clock recorded the time 26. B eYeFEEEAE T FREF AT
that Leo used 1n riding a bike for 2880m A A &9 85 R o théy-F35:k
2880m. What was his average speed? EZF 507
@J.Zmu’s (A)3.200s
B. 5.33m/s B. 5.33m/s
C. 19.2km/h C. 19.2km/h
D. 30km/h D. 30km/h

14



Number of Births in City F in the Past Ten Years
Fid#E+Faids A%

X
4 N

)

._.
B

—_— —
= 2

oo

A AR A
=)

I I I I I I | I I I
2012 2013 2014 2015 2016 2017 2018 2019 2020 2021

Year

FAr

Number of Births (in ten thousand)

27. According to the above graph, how 27. RIFE LB FHT A Z V0 Fe9H A A
many year(s) is/are the number of b+ F e A ASKT?
births lower than the average number

of births in City F in the past ten

years?
A7 A7
B.5 B.5

e )3

D.2 D.2

15



28. There were 10 participants in a
camping activity. If the rental fee
for hiring car was $y and the rental
fee for tents for each participant
was $90. What was the total cost

for this activity?

A. $(10y+90)
B. $(y+90)
C. $10(y+90)

@ $(y+900)

28, —EELEEHA 10 AFjo - mf
B ERES AAEEYEA
ABFAS > A B AT BE
RE%D?

A. $(10y+90)
B. $(y+90)
C. $10(y+90)

@$@+900)

29. 1 5P =105, then P+ 16 =7
A5
B. 21

@37

D. 525

29, WwRSP=105 > AR P+16="7
A5
B. 21

@3?

D. 525

16



30. Study the following expression:

Find the result of RxS.

A.8
B. 10

D. 35

30. BMEUTHEN

R||7
+ 1 85||8
9118

i RXS 84X -
A.8
B. 10

s
D. 35

17



SECTION B (26 marks) ZEB (26 43)

Working steps must be shown in answering  [&EERIFSHASN » 7 [B]E A R EERS > 78
questions in this section unless specified HI| BB
otherwise

TP = 4

Figure 2
Figure 1 & =
IEI —

31. The plastic sheet in Figure 1 is 31. Bl —&9B R A —BAEHF AW
formed by one square and four 18 A /N Fo T 4K 48 [B] 6940 75 485
trapeziums of the same size and R BURFIRAZER B E =9
shape. Nancy used this plastic FET ©
sheet to fold into the bottle in
Figure 2.

(a) In Figure 1, what is the area of (a) £B— BhRey@MHLS
i ? P
the plastic sheet?  [4 marks] . g{%\/%‘; | (41 2"“’ s 4x o
= 3l o
(b) In Figure 2, the capacity of the (b) £8 = EEMFHEEA
bottle is 450cm?. If Nancy uses 450cm’ - 4o F B A 15 2R
this kind of bottle to hold F & B3 1560cm’ &) 8 kb
1560cm’ of vinegar, how many RETBRAZVE?(RAR
bottles can be fully filled at HEE)
most? (Give the answer only) l({?‘oo =5 llA 2 %]
[2 marks] SR bk 3 H

18



32. Shop A had 365kg of oil while
Shop B had 384kg of oil.

(a) Shop A used n kg of oil each day.
How much was left after 15 days?
(Give the answer only and
express the answer in terms of n)

[2 marks]

(b) Shop B used all the oil in 17 days.
During the first 16 days, Shop B
used m kg of o1l each day. On the
last day, only 16kg of oil was
left. How much oil did Shop B
use on each of the first 16 days?
(Use equation to solve the
problem and show working steps)

[4 marks]

32. A Ji & 365kg 4 » B JE & 384kg
- B

@) AEFHERAEnkg ik -

15 %% > AEEEHSE V2

RBEHRAZAELEUN ZTE

=) (2 7]
Bhoa o (35— 1) hg.

(b) BEL 17T RINA £k -
AEBE16 X B EFHEXR
A& mkg- RiE—K > A
#|F lokg- B JE£5 16 X
g RAEHSE Y ?(ER
FRITERFIE S E) [4 5]

thw + 1 = 2¢
thim = 34
v~ b

19



33. There are 12 plastic balls in a box.
There are 12 plastic sticks in a box,
in which 8 of them are 10cm long

each and the rest are Scm long each.

Plastic Balls

ok —

33. —&B%A 124 - —2BHA 12
o HP 84 &K 10cm > He5
& S5cm -

—

Plastic Sticks

Bk

(a) A box of plastic balls cost $3.5
and a box of plastic sticks cost
$9.6. Claudia bought 4 boxes of
plastic balls and 6 boxes of
plastic sticks, how much should
she pay in total? (Give the answer

only) [2 marks]

(b) Claudia uses a box of plastic balls
and two boxes of plastic sticks to
make a cube. On the answer
sheet, draw the net of that cube.
[2 marks]

(a) —&BRESS —&BHE
$9.6 - EEWE 4 & %A 6
SR ABARKSE D ?
(RABHER)

(2 7]
2. v x4+ 9.4xh
- ML
Cofeg EAb

(b) EXR—&Bsioh&BH
HUET—AEHE  A%HA
K EE KPS B IEAE
e 2 5]

20



Happy Flower Shop
ERIc)E

|

34. (a) The Happy Flower Shop sold the

above vase for 85% of its original

price. The additional packing fee
was $25. How much should a
customer pay for purchasing a
vase with packing fee in total?

[4 marks]

(b) The Fragrant Flower Shop sold
the above vase for 90% of its
original price and no additional
fee was needed for packing. In
which flower shop did Mr Lau
buy the vase with packing
cheaper? Explain by using data.

[4 marks]

(¢) The original price of a bunch of
flowers was $125. Mr Lau bought
this bunch of flowers at a special
offer of $85.5, how much did
he save? (Give the answer only)

[2 marks]

|

i

34. (a) ERILE BB 85% & &
A EFEHR 0 B WCERS25 LK
¥ -mEMmE —mitREak
BLBAMGSED? 4 ]

V00 x {8s A%
= 212
LR dnr
(b) ZEILTE R 0% &
U EEHR » BERASME -
Bl AAEAT—RIEEHRERA
LR R 7 XA R

Fragrant Flower Shop
Z (Y

%o [4 7]
1% x Pl
= 1h
2 >V
tawAh Bk AL

(c) — R RBASI25 - B4
IUS8SS e REME TIER
o RBETSEV2(RARY

A %R) [2 %]
= {8y

= $Yy

End of Practice

21



Dividing decimals

@ Do you know?

‘[ #%  decimal % 37 ~ round off
+ % = tfenths place B~ = hundredths place

Calculate. Round off the answers to the nearest tenth if necessary.

1. 102+85=_12 2. 119+34=_ 35
3. 477+12=_40 4. 59+06=_098
5. 1.02+0.02=_ 51 6. 1.5+0.03=_50
7. 363+33=_11 8. 57+18=_ 32
9. 253+27=_ 94 10. 12.5+25=_ 5
1. 8.6+72=_12 12. 59+0.73=_ 8.1

In each of the following, estimate the product. If the product is between 5 and 10,
put a v in the circle, otherwise, put a x.

(@ 531+1.8 > (@ 10.2+0.3 >
(@ 122+23 > (@ 7.2+0.96 >



Decimals and fractions

@ Do you know? @Let’s have fun!
| B

decimal Fill in the blank with a decimal.
A i fraction
PPN round of f 8 < 2
LAt tenths place 7 0
— 0.89 (or other reasonable answers)
A hundredths place

Change each decimal below into a fraction in its simplest form.

(I EE ST I

19+ 1
1. 192= "5 2. 4025=_ 49

4 2
3. 616= °25 4. 708= ’25

Change each fraction below into a decimal.

9 3
20" 0.45 6. 25= 2.6

4
7. 7=_057 (rounded off to the nearest hundredth)

© ERPIF A

@ psrisoce

5 :
9. 11— 645 (correct to 2 decimal places)
@ 351 BB

= 47 (rounded off to the nearest tenth)



Averages

@ Do you know?

T i3, T i9fc average

i : Le¢’s have fun!

The average of the numbers that form

the vertices of a square is __21

Find the average of each group of numbers below. Round off the answers to the
nearest hundredth if necessary.

1. 82,75,96, 75, 80 Average = 81.6
2. 45,3.6,67,3.8,54,6.6 Average = 5.1
3. 250,300, 350, 320 Average = 305
4, 2,3,250,1,1.5,1 Average = 1.57
The table below shows Tom’s and Lily’s test results.
Subject Chinese English Mathematics General studies
Tom’s marks 75 79 85 85
Lily’s marks 73 78 100 75
5. Find Tom’s average mark of the tests. 81
6. Find Lily’s average mark of the tests. 81.5

7.  Who has a higher average mark of the tests?




Broken line graphs

The broken line graph below shows the daily sales of toy cars in shop A and
shop B from Monday to Saturday.

Daily sales of toy cars in shop A and shop B

Number of toy cars sold

Mon Tue Wed Thu Fri Sat
Day of the week

Circle the answers.

1.  The daily sales of toy cars in shop A decreased from / Tuesday
to Thursday and increased afterwards.

2.  The difference between the daily sales of toy cars of the two shops on

Friday is the greatest, which is 14 // 20  cars.

3. The difference between the daily sales of toy cars of the two shops on

Wednesday is the least, which is @/ 4 / 6  cars.

4. Shop @/ B  sold more toy cars on Monday.
5. Shop A / 1s more likely to sell more toy cars on the coming Sunday.



Percentage

3 ij Do you know? i : Le¢’s have fun!

EIRE S percentage Shade the squares below so that a
S fraction letter 'c’ is formed and takes up 50% of
QIS decimal the whole.

(or other reasonable answers)

Use % to write the following percentages.

1.  Sixty-two percent=_62% 2. 8outof100=_8%

Change each percentage below into a decimal.

3. 70%=__07 4. 148% = _1.48 5. 205%=__2.05

Change each decimal below into a percentage.

6. 0.8= 80% 7. 62=_620% 8. 0.039= 39%

Change each percentage below into a fraction in its simplest form.

2 e 5 2
9. 40%=__5 10. 28%=_ 25 11. 5?%2 35

Change each fraction below into a percentage.

3
12. 4= 25% 13. lgz 160% 14.



Symmetry
%; Do you know?

A axis of symmetry
AT B BA 2-D shapes having axial symmetry

Circle the 2-D shapes having axial symmetry and draw all axes of symmetry.

Put a ‘v’ in the box if the dotted line is an axis of symmetry of each shape; put ‘%’
if it is not.
7. |

10. 1.




@ Do you know?

(gpacity andolume

measuring cup

b volume £ >R cuboid
g capacity a7

£ length ROk £

2 width

® height

Fill in the blanks.

1.

3.

1000cm®>= 1 L 2.

water displacement method

2.5L= 2500 cm?

The length, the width and the height of a cuboid box are 10 cm, 7 cm and 8 cm

respectively. The capacity of the box is 560 cm’.

Fill up a teapot with water. Then pour all

the water into a cubic container, as shown

on the right.

The capacity of the teapotis 800 mL.

In the figure, a full glass of water is poured
into a cuboid container. The water fills

the container half full.

The capacity of the glassis 360 mL.

9 cm

8 cm

en



Simple problems
on percentage

@ Do you know?

B original price
LA selling price

Fill in the blanks.

1. 36outof50= 72 % 2. 30outof8 = 375 %
3. 60x25%= 15 4. 700 x70%= 490
5. 200 x (1+20%)=_ 240 6. 300x(l—15%)=_255

Match the calculations with the correct answers.

7.

| 80%ﬁof140> 7180 X 75% > 75%ﬂ0f200> 7700 x 25% >

\135>1ﬁ12>(175>\150>
I

Answer the questions.

8. In abox of 30 chocolate beans, 6 of them are green and
5 of them are yellow. What percentage of chocolate beans 20%
are green?
9. There are 60 students in a team. 45% of them are boys.
How many girls are there in the team? 23
10. A factory produced 650 toy trains last week. It produced
12% more toy trains this week. How many toy trains did ——

the factory produce this week?



Angles and degree

3 i‘i Do you know?
£

angle id degree
i acute angle T g straight angle
B & right angle F & reflex angle
&4 obtuse angle ¥ d round angle
T4E protractor

Which type of angle is each of the following angles? Fill in the blanks.

1. 2.
\Q/ w

Obtuse angle Straight angle
3 4.

Reflex angle Acute angle
5. 6.

i O

Right angle Round angle




Circumference

(P Do you know? C@I.ei:’s have fun!
7l

7 circle
]~ centre
Fl % circumference ! !

1
»l

[P
'Y >\

s radius P ? cm Q

gy diameter The sum of the circumferences of 3
¥R perimeter identical circles is 132 cm. The length
LR semicircle 22

of PQis_42 cm. (Take & = 7)

Find the perimeter of each figure below. Take 7t = 3.14 for calculation.
(The black dots are the centres of the original circles.)

1. 2, 24 cm

»l

62.8 cm 61.68 cm

8 cm

Nl
A

I_V

2856 cm cm

) [
2 [ !
- /
37.68 om ' 1428 cm
- v J::

10



Speed

; 3 Do you know? i : Le¢’s have fun!
# 5

# speed How long did you take to finish a
T 5 average speed 100-metre race?

FEHE/ B2 A% distance

o time seconds Any reasonable answers
{7 42 18] travel graph

What is your average speed in m/s ?

m/s Any reasonable answers

Fill in the blanks.

1.

Alex finished a race of 31.5 km in 3.5 hours. His average speed

was 9  km/h.

Peter drives at an average speed of 60 km/h. If he drives 2.5 hours,
the distance travelledis 150 km. =—0)-LEO.9

A plane flew 2100 km from Hong Kong to Seoul at an average

speed of 700 km/h. The plane took 3 hours to fly. @i

Solve the following problems.

4,

Irene cycled at an average speed of 16 km/h. She set off at 12:30 and arrived her
destination at 14:15. What was the distance she travelled in kilometres?

1 hour and 45 minutes = 1.75 hours
16 x1.75
= 28
The distance she travelled was 28 km.

11



Solve the equations. () 2= 7z -
1.

Simple equations

@ Do you know?

> AR
* Frdc

equation
unknown

4

gu—7=1
2x+0.6=15
m X 70% =49

w(l +25%) =75

x= 7.2
m= 70
w= 60

-

-

© =4

Checking () % &
Whenu= 10 ,

LHS.= 5“7

x10-7

O | DOT | D

= 1

=R.H.S.

O+

In each of the following, write the equation and then find the value of x.

5.

4.5 times x equals 72.

Equation: 4.5x=72

1
Divide 5x by 6 equals 48 :
5x 1

Equation: 6 6

8x minus 3.2 equals 24.

Equation: 8x-3.2=24

6 plus 40% of x equals 10.

Equation: 6 +xx40% =10

12

x= 16
xX= 5
x=__34
x= 10




Area of circles

i ? Do you know?

Fl & f# area of circles BT diameter
2 radius 7% circumference

Find the area of each figure below. Take & = 3.14 for calculation.
(The black dots are the centres of the original circles.)

1. 2. e 20 cm N
50.24 cm2 157 Cl’l’l2
3 4.
A c
B 2m
6 cm 8478 cm? 18.84 m?
5. 6.
A
4 cm
5
o 3925 cm? 344  cm?
AS

13



Pie charts

C‘P Do you know?

712 B pie chart 57 sector

Flw & angle at the centre

According to each pie chart below, complete the table or answer the questions.

1. The following pie chart shows the expenses of Ken last month.

/ The expenses of Ken last month \

Housing

135°

Transportation

Entertainment

\\ Total amount: $18000 /

(a) The angle at the centre of the sector representing ‘Others’is ~ 30° .

(b) Ken spent the most on housing last month.

(¢) Kenspent$ 2250 on transportation last month.
(d) 25 9% of Ken’s expenses are on entertainment last month.

(e) Kenspent$ 3750 more on housing than on food.

14



